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1. Leukopoiesis leads to the formntion of | ,,1" &5l ﬂsfﬂ'ﬂ | &kl ﬁ‘ﬁ“’ R0 B {

(A) Granulocyte, Lymphoeyte,
Monocyte

(B) Erythrocyte, Lymphocyte,
Monocyte

(C] Monocyte, Gmnulocytc,
Erythrocyte

(D) None of the above

[F) Not attempted

2, The deficiency of Vitamin D causes

(A) Goitre
(C) Beri-ben
(E) Not attempted

(B) Rickets
(D) Scurvy

3. Which of the following converts
inactive prothrombin into active

thrombin in the presence of calcium

ions ?

(A) Heparnin

(B) Thromboplastin
(C} Fibrin

(D)) Fibrinogen

(E} Not attempted

4. Which is an anticoagulant preferred

for Complete Blood Count (CBC)
determination P

IA) Heparin

(B) Sodium fluoride
(C) Dipotassium EDTA
(D) Sodium citrate

(E) Not altempted

— allows you 1o input
commands without typing long strings

of characters or navigating menus or

dialog boxes.

(A) Enter key

(C) ESC key

(E) Not attempted

(3) CTRL key

(D) Function key

() AR, Feromtares, vivire
(B) wRu, fomrmame. Tt
(C) TSz, dEirgz, whoimre
(D) I9GF F & w1 74 N

. Freafefas & # S e s

1 Ifeafa i faferg e 5 gfe
it 3 wfaffa ax 2w 4 o

(A) ®afe

(B) wrETenfiz

(C) wwsfam

(D) w3

(E) 3ganiae

. WPl w8 FrdE (A, ) fakon &

fery waidian e ~inf adg-m 27
(A) Bufts

(B) #if¥m wwinez
(C) TP §.4) A.u,
(D) fzam nrgze
(E) 3rnfe o

: R Ftwer ) @)
e A fam fam = #17  zvwin gl
1 Az fa o wiz gqe o0
wqufa d ¥ |
(A) Enter 1 (B) CTRL#
(C) ESC #) (D) w7
(E) 3aariaa
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10.

(B) Nohkalika; waterfalls
(C) Bar\'.‘hlpa_m witerfalls
(D) None of the abave
(E) Not attempted

A reduction below normal level in the
concentration of hemoglabin or red
blood cells in blood is known as

(A) Thalassemia

(B) Anemia

(C) Pneumonia |

(D) Sickle cell hemoglobin

(E) Not attempted

10. T # EWrEas 7 AT WA HITHTA]
£ wizar 9 A= =1A Jra 6 o

HEETTA R

(A) derfifm %
AB) AT e
(O RELIER

(D) fowe w1t dmreifan

(E) Fwafam
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& €6 - M2,
11, 3T 3 fany e

5 : miutoclave
11. Chamber pressure lur oclave is ‘ s e &
(A) 50 I per square inch ] & % ufy . o

(13) 10 1b per square inch (H) 10 fz oy Tt

| :
(C) 25 b per squnre inch %’% (C) 25 ’ﬂ? ufer Bu ﬁ
(D) 15 Ib per square inch b3 » (D) 15 g ufs o 34
(E) 3mafim

(I5) Not attempled

The famous Bagh Caves' are located in 12. uftz Ty TEm o 5 oo 4
— "1 |

12.
(A) Chhnttisgarh (A) By
@) Utiar Pradesh (B) 37wy
(C) Jharkhand (C) F1me
(D) Madhya Pradesh (P) eg oy
(E) Not attempted (E) 3wmfag
13. CPR stands for 13. Fﬁ.‘ﬁ.m,_ 1 e &
(A) Cardio Protective Resuscitation (A) gy Urefaeg a3
(B) Cardio I'ulmonary Resuscitation (B) wafén TenTa frofes : -";'
(C) Cardio Primary Resuscitation (C) =iEq TS st
(D) None of the above (D) 3997 5 7 w4
(E) Not attempted (E) Itumfaq
o R
14. ' IS :? specific character {1::" | s faforz ﬂ'_ @i‘é, ;
string that constitutes a reference to i WA % fom O =iy
a resource. A) i & ‘ Em
(A) Simple Mail Transfer Protocol (B) mm m
(B) Hyper Text Transfer Protocol E"_ A i e @ o
(C) Domain Name System (C) TN 3§ foms
(D) Uniform Resource Locator (D) g% o s
(E} Not attempted (E) 39FTEn
15. Normal value of haemoglobin in 16. wfgensil & fEraifa = awe 5k
- (A) 12-18 g/dI o
definlgocs..sop @) 12 -16.5 g/dl %
(B) 12 - 16.5 p/dl } Sgf 2
(C) 10-12 g/dl (C) 10-12 g/dl
(D) 8.5-12 g/ar (D) 8.5-12 g/dl
(] Not attempted (E) 3rfaa
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16. Hy=r(x .- , dy
Bt X = 1 jn 2) and ¢ (3) = &, then o0
] o () 10
el 8 1) 25

m
(E) Not attempieqd l a
Which of the following tests is

Performed by usine @

A Designe. . T DA blood P
(M) Hematocrit

(C} Lipid profile

(D) Reactive protein

(E) Not atlempted

17.

18. The vaccine whicl, ig given to prevent
tuberculosis is |

(A) TD

(C) DPT

(E) Not attempred

(B) TT
(D) BCG

Find the value of x.

19.

(B) 15
(D) 9

(A) 11
(C) 7
(E) Not attempted

Who is the father of anliseplic

e — g

20.

surgery ?

(A) Joseph Lister

() Robert Koch

(C) Paul Ehrlich

(D) Antony Van Leeuwenhock

(E) Not attempted

|

CcG - MH23

16. Wrﬁy-f(x?+2,mr{3l-ﬁ_ﬁ1'x'1

18.

20. WEGE gdfi & wwm s R 7

dy
it o »
(A) 15 (B 10
) 5 (D) 25
(E) sramfem

$ 818,90, v g7 g o A
it 8 BN i fpy A # 7

(A) 7

(3) PR

(c) fafes o=

(1) wfafEarfe A

(E) Fwafaa

s T B warg 3 g o 2 R ST
R a2
(A) TD

(C) DPT
(F) 3w

(B) TT
@) BCG

(B) 15
(D) 9

(A) II_
(C) 7
(B) Nwaraa

() FrEs foret

(B) Tae &g -

(C) wist ufera

(D) G2t &7 AT
(E) WrniEa
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21, Firat nid kit should eontain 21 mﬂﬁ? e TP wnfay

A) Antiseptics o ‘ ‘

{‘L‘] Scissors and forceps E?} qf_ﬁ,:rﬁmj 'E'Iﬁq;'

C) NHandages > ;r+

:np All of the above % jlI HI 7 qgﬂ.

(1) Not attempted ko o (T Hﬂ’ilf. |

: uﬁfé;:‘-“”' =L AL = |4p, .

a2. Which number will come in the place @ A E"W/E‘qu -1fy C— _

of qufﬁ“ﬂﬂ ﬂ‘llll’k r !?:B.'_l '4- 385 1“59 ; 'ﬂTﬂ‘rﬁ ? )

&) 92 ) 12 'y Dl 112

C) 92 2 ' 12

:E) Not attempled () 3ot l
a3, Parasites with bile stained eggs are @ T:" :é;s 32 U o =

(A) Anchylostoma duodenale s B |

(B) Trichuris Trichiura (B) Tisgfm P ;"Iz i<

(C) Giardia lamblia (C) ﬁ‘-ﬂ'lfém ™

(D] Entamoeba histolytica (D) iy ﬁ;l‘i ﬁi If-!H l

.- 146

(E) Not attempted

‘ icly are the only cell type prescent A §1 i oy :}
24, Whic e t : q.q, -

in normal semen 7 TR 72
(A) Merozoa (B) Erythrozoa (A) mm (B) it
(C) Sporozoa (D) Spermatozoa (C) T (b)
(E) Not attempted (E) Fwaiiaa E

25. Choose the mirror image of the | 25. frfefes fa = Tt s T |
following figure. —

» ‘

_—
p——

J
_J
B

3 S

Ay ®)
Mot | N . cstid

— — .
C l:’ I:\:l (C) I:L/ D) m
) ()

(E} Not attempted

D .

P~
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(A) Diﬂh:fcruun (w14t (#]
(B) Sterilisatioy, :

(C) Antiseptics

(D) Asepsis

(E) Not attempreq

27. Which of the followin

Fis an example
of granulocyte 7 e

(A) Lymphocyte

(B) Monocyte

(C] Neutruphil

(D) None of the abaye
(E] Not attempted

2B. Jhajjar district of Haryana was carlier
part of this distriet
(A) Rohtak (B) Rewan
(C) Sirsa (D) IHisar
(IX) Not attempted

29, Which of the following is the job of
the receptionist at a clinic ? i
(A] To welcome the patient
(B) To puidce the patient
(C) Register the patient
(D) All of the above
(E) Not attempted

30. Total APGAR score 18
(A) 10 (B) 9
(C) 8 D) 7

(E) Not attempted

27, Frafaias § 4 m-ar w5
FaTE @ 7 .

(A) fofiamse
(B) WrTaT§2
(€) =ggiftpa
(D) I9% | 4 wI1§ T8
(E) 3rwnfa

@ AT w1 e Fren vee v fae =

Wi ot
(A) TFa+
(C) fawan
(F) Fwaiaa

29, f3= 7 4 - fefas 3 forefe <0
SR 7
(A) Tft @1 =TT Hen
() Tt = wrterts e
(C) Tt & Ifta T
(D) I @il
sy

()

(B) T@rgl
R

30. pf vdisfieam. =n

JA) 10 (B) 9
(C) B ) 7
(E) F9aTids
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% A Constitution which can be amended
casily in the same way as {hat of
prssing the ordinary laws is known as
(A) Written Constitution
() unwritten Constitution
() rlexible Constilution

(D) Rigid Constituition

(E) Not attem pted

[
EI_'!

32. The causative agent of enterice fever is
(A) Proteus

(@) Salmonella typhj
(C) Shigella

(D) Klebsiella

(E) Not attempted

Which of the following graph is in
circular shape ?

33.

32.

AB) AT

(C) firrey o
(D) FHafauey

(E) 3wafam

(35) Pl 3 -1y

(A) Line chart (B} Pie chary W TR ) o
(C) Histogram (D) Bar feeimm
(F) Not attempted ] o :z: o 0 S
34. is a network -
connects computers, mﬂhil:;::ncs. - . % T 2, Al i-f'fﬁm T g
tablet, mouse, printer, etc., placed at & T H9, m Hi, de, Hi3d,
a limited distance. ﬁ'ﬂ, iR AT 2
(A) Wide Area Network (WAN) (A) TS QT ewh (39,0,3.)
(B) Metropolitan Area Network (MAN) (B) WgTdtferea Uit Tead (um.v..)
(C) Local Arca Network (LAN) (C) Fitet vftn Fzad (VA0 )
(D) Particular Area Network (PAN]) (D) STEFeR vien e (fe.vs.) :
(E) Not attempted (E) Fwias J
|
35. Which is an immediate medical 35, UA = B wH-H aenw atee
assistance given to a injured person ? HEEA @ IR 7 |
(A) Medication (A) = %
(B) Antiseptic (0) TR £3>
(C) First aid () wrafas Fafsea
(1D) None of the above (D) I & A @i T .
(E] Not attempted (E) Fwanem
.8-
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36. :\r:::::’l'n;l.nl In called aa “sack of a1l
lf:: :-'Iﬂﬂl-'.ﬂncae B Gold
. 0
() Nﬂ:‘nllcmmml B} Atuminium
37. Which of

the I'ullmving ia the

transport medium of Vibrio Cholern 7

(A) Stuart’s Medium
(B) Alkaline peptone water

(C) Venkatraman Romakrishnan
Medium

(D) None of the above
(E} Not attempted

-

=

iy

38. The skeleton of the human head is
called

(A) Lacrimal
(C) Maxilla

(E) Not attempted

(B) Palatine
(D) Skull

The first milk secreted by the breust
is called

(A) Colostrum

(C) Fore milk

(E) Not attempted

39-‘

(B) Primary milk
(D) Hind milk

Animals with notochord are called
(A) Non-chordates

(B) Triploblasticans

(C) Chordates

(D) Invertebrates

(E) Not attempted

40.

Which of the following bacteria grows

in clusters ? |
(A) Pneumococci (B) Meningococcl

(C) Streptococci (D) Staphylocacci
(E) Not attempted

41.

|
l

CG - MH23

36. P upy 3y v -
IR 7 ft =qrmdd =1 ¥ wm
(A) #rrfra -

: (B) T

4€) S (D) EgENAEH
(E) smamfna

a7. ﬁ%ﬁﬁmammﬂ
W e 8
(A) B3 %y oy
(B) &9 = 9=

fclmmmm
(D) 39T & F w1 A1

(E) swarfaq
38. WA fiR & Gre @) wE1 FOAI A

(A) e m) &EerE
() &fdmn (D} WIS
() 3rarfim

39. mﬂﬁm&mﬂm@ﬂm?
(A) FTeiTegn B) WAt
(C) #T2W (D) W& g9
(E) 3r7amiaa

@ qmqmﬁa:g____m"i;amf |
(A) I+
W) foEnfesT
(C) TAH Eﬁ
(D) 3FTEh] ‘
(E) Faan=d

(81.) fr=fafam 1 4 w9-F Qadfon aem i

- ﬁasﬁqamiv o
(A) FETRIFE  (B) FATEE
(C) F=EEEE (D) =HEewTang
(E) FIAAA

(} Scanned with OKEN Scanner



% CG-uBza

42. Increase in the percentage of @ @ﬁﬁr % atama q E[I'z FEATH 2
neutrophil is ealled ' Al ”
A 04
(A) Neutroeytosis ‘l :qa‘"mrqf-qmm
o) Eosinophilia " m‘;rﬁi ‘
(C) Neutrophilia % (Ch =1"ﬁ :
(D) Neutrupcnia (D) =ggrafaa
(E) Not attempled (F) rw=fam
43. Shape of NH, is "'4? NIL &1 3+ 2
(A) Trigonal pyramiga) " ) Prwinha faafirda
(B) Square pyramida] (B) =t foufrém
(D) Sec-saw :Dl 3?“ HTE' "
(E) Not attempted (E: H;ﬂTﬁfl-‘rr
44. Which is the latera] and s
mall 44,
quhEIcg? er bone hﬁ‘mﬁﬁtmﬁﬂh—ﬁ??
(A) Patela P
(3) Femur 8) B
(C) Talus (C) ¢wmm
(D) Fibula (1) e
(£} Not attempted (E) srwriaa
45. Monocytosis is observed in 45. W dar T 8
(A) Whooping cough (A) =ell @it 7
(B) Malarin (B) weiftay
(C) Asthma (C) = #
(D) Skin infection (D) Frn Fhem & ®
() Not attempted (E) 3mraiaa S
46. Il'ﬂin"x+sin’y=-2r-:v.thm X! = 46. 92 sin'x + sinty -~ WX =
2 L]
(A) O (B] yl-y (A) O (B) J1-y
(€] 1-y? D] ¥’ (C) 1~y D) ¥’
(E) Not attempted (E) St

(} Scanned with OKEN Scanner



(D) None of the ubﬂ\-’c
(E) Not attempteq

48. The skull consists of how many

bones ?
(A) 22 (B) 42
(C) 28 (D) 32

(E) Not attempted

49, Ilypovolemia is a condition of
(A) Decreased heart rate
(B) Increased blood volume
(C) Decreased blood volume
(D) Increased heart rate
(E) Not attempted

50. If [x'+1]2=ﬁ+BK+C

T » xn+1.thcn
cosec™! % +cot™! -é-+acr:" C=
(A) & B 3
© % D) 0

(E) Not attempted

Escape of blood from the blood
vessels is known as

(A) Tachycardia

(B) Hemorrhage

(C) Bradycardia

(D) None of the above

(E) Not attempted

51.

1

S1.

CG - MH23
17. rmm‘ﬁ';ﬁt

(By laﬁ@mm

(C) “'“’"*’Tm

D) 3747 1 3 558

(F) Swnfes

48 TN P iyt e # 7

WA 22 (B) 42

(E) Jvfag

ERYEI ey 1 feafa 2 1

(A) %23 2T A Fft .
(B) T3 %1 7rn 4 gfg

AC) T H1 71 e

(D) &3 R i gfz

(E) 3mafag

‘ 0. ‘Tf\i [x+1]2_£+8x+c =1
# x}+x X x2 41"

cosec ™! i—ﬂ::::':l:"1 % +sec”'C=

A & B) 7

© (D) 0
@ dife1an | Wa 1 Fee, |

FETAT & | EAIE W\

(A) TS % ‘9\\":'
(B) @aET e \
(C) AT
(D) I9a & | IS TE
(E) 3TvETaa

0% 5 O
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52,

53.

S5.

56.

Which is the longest bone of arm ?
(A) Ulna () Radia) '
(C) Clavicle (D) Humeryg

(Iv) Not attempted % I

Which of the following ig Spore

forming bacteria ?

(A) Shigella

(B) Clostridium welchi;
(C) Staphylococeys aureys I
(D) E.coli

(E) Not attempted

Two discs of same Mmalerial ang
thickness have radij 02m and 0.6
0 Im.

Their moment of inertia about their
axes will be in the rqtjq

(A) 1:9 (B) 1:3

(C) 1:81 (D) 1:27
(E) Not attempted i

Which of the following is an example
of RNA Virus ?

(A) Paramyxovirus
(B) Pox virus

(C) Parvovirus

(D) Herpesvirus
(E) Not attempted

Which is the medial bone of the
forearm ?

(A) Ulna

(B) Scapula

(C) Clavicle

(D) Humerus

(E) Not attempted

52.

53.

S6.

- -

(D) T
(E) 3rwantam

(¥ scanned with OKEN Scanner



‘-Which type of cultivation /farming
18 also known ae “Slash anq Bumn
Agriculture” 2

(A) Mixed farming

(B) Plantation farming

(C) Subsistence larming

(D) Shifting cultivation

(E) Not attempted

59. How many phalanges are there in

ecach foot ?
(A) 22 (B) 24
(C) 14 (D) 12

(E) Not attempted

60. Neurogenic shock is caused due to
(A) Spinal or head injury
(B) Internal bleeding
(C) Severe infection
(D) Severe allergy
() Not attempted

61. Freedom fighter Rao Tula Ram
died in
(A) Nepal (B) Burma
(C) Pakistan (D) Afghanistan

(E) Not attempted

| 61. AT &1 TS g1 T A gog

58. Wlt/FM % farg e w5 A A
TN FF % oy i ofy I AT R 7
(A) Tafam o

(B) &g w5+t

59. Nod% 12 # faray qrgiel €14 & 1
(A) 22 (B) 24
(C) 14

(E) 39
=T 7is faas Srv emar 2 7
) Tz 9t ezt 31 fag 71 412
(B) FTafE w@eam

(C) Tt HsEmor

(D) M versi

(E) Toaniéd

(D) 12

60.

EladE

E '™ 4

qES |

(A) 9T
(C) GrfheaT
(E) I

(¥ scanned with OKEN Scanner



62. Which of the following is an example
of non-projecting visunl aid ?
(A) Flannel board
(B) Slide projector )
(C) Opaque projector B
(D) None of the abave
() Not attempted

63. Number of bones in adult human
body is
(A) 206 (B) 223
(C) 203 (D) 216

(E) Not attempted

64. Insufficiency of food or food gap is
chief cause of

(A) Protein cnergy malnutrition
(B) Todine deficiency disorders
(C) Nutritional anemig

(D) Low birth weight

(E) Not attempted

65. The zonal research center of castern |

agro-climatic zone is situated at
district of Haryana.

(A) Karnal (B) Fatchabad
(C) Jind (D) Hisar

(E) Not attempted

66. [all of hematocrit values are observed
in

(A) Polycythemia

(B) Anemia

(C) Dehydration

(D) Congenital heart disease
(E) Not attempted

(C) I3 v
() 74 4§ 3 1§
(E) e

63. & U i 1 wsfaai £y ey 2
) 206 (B) 223
(C) 203 (D) 216

(E) 3rumfim

64. MISH H Ff 71 @ saue fFEE
HIT B 7
(A) UEA F=AT FIIT
c{B) mﬁ‘ﬁ’-ﬁ?ﬁ:ﬁﬁiﬁm&fﬂm
(C) W et wHifiran
(D) = o= T
(E) 3w

65. & H foret % ool Ffa-<mmmg

66. %ﬂaﬁﬁmmqﬁmﬁaﬁ%

(A) SiEaatE §

(B) Wi 3§

(C) Treieitertur

(D) SIS &2 T

(E) 3Tt

(¥ Scanned with OKEN Scanner




67.

68.

69.

70.

71.

Mn)
(A) Pnrumyxuvlru:nﬂl Virua ?

(B) Smﬁ"pnx Virug
(C) Togovirug
(D) Parvoviryg
(E) Not attempyeqy

woman IPS to becomg the Police
Commissioner of Gurugram in
Fcbruary 2022 7

(A) Geelikn Chal.ld.hary
(B) Himanshi Dahiyq
(C) Kala Ramachandran
(D) Sunita Devi

(E) Not atiempted

Scalds are caused by

(A) Accident (B) Shock

(C) Steam (D) Friction
(E) Not attempled

On an average, the birth weight of
healthy babies doubles by

(A) 7 months (B) 9 monlhs
(C) 3 months (D) 5 months
(E} Not attempted

Which of the following is an example
of non-verbal communication ?

(A) L.ccturl:

(B) Shaking hand

(C) Discussion

(D) Telecommunication

(E) Not attempted

CG - MH23
67. WU TR amTy #7127
(A) Sftermrrrm
(1) =17 oy
(C]m e
(D) TraTaTTE égﬁ
(E) 3mrmfem B
68. Pr=fafaa i @1 o g afeen
aé. f.om, 4, 1 weadt 2022 % TEIH A
qierd A w7
(A) i <ted
(B) fewmt gl
(C) el THEzZA
(D) FAtan g
(E) Irgiaa
69. WhEE____ wmmRUTMIE |
(A) T (B) TR
(C) W (D) &9
(E} 379aTHa
70, wEREA Brift Tl # S & WG B
T _ﬁf@_ﬁ_@gl

(A) 7 TR (B) 9 w&R
(C) 3 ¥R D) 5 WA
(E) 3rvarm

71. Fr=fafas 4 @ sF-a -difes 91
F TF I 2 7
(A) =TEH
(B) &Yy faart
(C) v

(D) GUHET-.
(E) 3t

(¥ scanned with OKEN Scanner



72.

73.

74.

75.

At the gecontd Round Table

Conference in 1931, _ . I
pested the reorpnnisation of the

QIS '

- | the separation

Al houndnrics ant
Division from Punjab.

EF.-‘

unj
of the Ambala
(A) Sir willinm Nirdwood

(13) Sir Malcolm [Hailey
(C) Sir Gieollrey Corbert
(D) Sir Aiguilles Rouges
(E) Not attempted

Which of the following Award is
started by Gavernment of India

to promote urban sanitation and
recognise cxcellence performance in
environment sanitation ?

(A) Swachha Bharat Puraskar

(B) Nirmal Shahar Puraskar

(C) Nirmal Gram Puraskar

(D) None of the above

(E) Not attempted

Which is the unpaired cartilage in
larynx ?

(A) Thyroid (B) Corniculate
(C) Arytcnoid (D) Cuneiform

(E) Not attempted

Which of the following is not a
communicable disease ?

(A) Tuberculosis and Leprosy
(B) AIDS

(C) Malaria and Filaria

(D) Cancer

(E] Not attempted

73.

(A) T I g
(B) i wiw qreeny
(C) P 17 e
(D) 377 4 &} 5 78
[E) 3w

74. Wﬁmmm_mt?

() UmEs (B) FHR
‘Cl m (D) ﬂﬁqﬁ
(E) vt o
o
75. Treatiad 1 § A1 G 0 6 87
(A) & Tm 3 F=2 T
e B e
(C) w3 wrEaiw
(p)
(E) TSR

-16-
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76,

78.

79.

80.

- I8 A malware that is crented to
Eenerate revenue for (i developer.

(A) Spyware (3) Adware

(C) Keylopgpers (D) None of the above
(1) Not nttempied

70,

EIREE]
lHlemoglobin diluting fMuld js é% | 77.

(A) 0.5N Sulphuric acid

{B) 0.5N Hydrochloric acid I
(C) 0.IN Sulphuric acicl |
(D) D.IN Ilydrochlodc acid
(E) Not attempted

Westergren's tube is uscd for

determination of

(A) ET}'“’U'OC}"!: Sﬂdimentat{un Rate
(ESR)

(B] Packed Cell Volume (PCV)

(C) Red Blood Coll (RBC)

(D) Mean Carpuscular Volume (MCV)

(E) Not attempted |

A ——HCLs as a network |
filter and bascd on the predefined

sccurily rules, it continuously
monitors and cantrols the incoming
and outgoing traffic,

(A) Cookies (B) Fircwall

(C) Protocols (D) Gateway

(E) Not attempted

Public Health is also called as
(A) Community Health

(B) Public Medicine

(C) Community Medicine

(D) All of the above

(E) Not attempted

78.

79,
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(0) veday
(D) 375w 11 7 Fa§ =1l

AerfeR ofie
(B) 0.5N Frgmeifes vftrs

(C) n.mm_h—-sqﬁaz-
(D) 0.1IN Tr3tasifis ofas
(E) Fwgifiq

TR T o Frafr & e st
ELGIR

(A) 3R #REem T2 (§.0R.3T)

(B) %92 & afeym (di.#f1. )

(C) © =72 Fer e e,)

(D) ¥ Hifwgen wfeqy (qa.41.4i.)
(E) 3T

U e fheet & &9 9 &
e ® af it e fradi & s
T 4% HM atet 3R 91 T 2R T
SIaR 73R @ ¢ 3 Fafam s g )
(A) T (B) $rEETd

(C) Hréiwia (D) req

(E) v

AT |y Hy
AT e |

(A) L= (re2)
(B) mﬁﬁﬁn
(C) amEias fafem
(D) 39w ot

(E) TR

i T
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81, pll of the Cercbrospinal fluid (CSF) is

82.

83.

84.

(A) 7.3-7.4
(B) 7.0-7.8
(C) 7.2-7.4 EIAIC)
(D) 6.9-7.6 O} i

(E) Not nttempted

is an exhaustive

scarching technique where every
clement of a given list is compared
with the item to be secarched.

(A) Lincar scarch

(B) Sclection sort

(C) Bubble sort

(D) None of the above

(E) Not attempted

Which of the following indicates low
Birth Weight (BW)] ?

(A) BW<25kg

(B) BW = 2.5 kg

(C) BW=>25kg

(D) None of the above

(E} Not attcmpted

Which of the following is the Extrinsic

muscle of the tonguc ?
(A) Inferior longitudinal
(B) Transverse

(C) Styloglossus

(D) Superior longitudinal
(E) Not attempted

Bl1.

82.

B3.

84, feffea i fR-RsHraghid 7

-18-

CG - MH23

NGIETE WRe (503,05, ) pll 2
(A) 7.3-7.4

(3) 70-7.8
AC) 7.2-7.4

(D) 69 -76

(E) Jwmfim

Uk TN 99 TF-1% R,
wIEl ft v o e Mo we e @
T Wil <1 arelt g & <6 Sl 2 )
(A) bt a4

(B) Tastamm wé

(C) 99 T2

(D) I94e T q F13 R

(E) It
Prefafes § 8 wR-91 9 5 79 &
9 T R 7

JA) BW < 2.5 kg

(B) BW = 2.5 kg

(C) BW>25kg

(D) I9YF 7§ H1§ &

(E) nmates

(A) AR Aff~reisTe

(B) Traad BigE
(C) RIgaT=ITay O}
(D) HifR Wi~

(E) e
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85. Abnormal incrense In urine volume I8

86.

87.

known as

(A) Anurin

(B) Olipuria

(C) Palyuria

(D) None of the nbove

(E) Not attempted

The output of the compiler is called
(A) Source code

(B) Data code
(C) Object code

(D) None of the above
(E) Not attempted

Who among the following is not

included in the member of health
care leam ?

(A) Nursing personnel
(B) Dietician

(C) Physician

(D) Surgeon

(E) Not attempted

Persons trained in medicne and

psychology are called
(A) Psychiatnist -
(B) Physiotherapist
(C) Dentist

(D) Surgeon

(E) Not attempted

B7.

(B) it O

(D) I7F 5 A =i 7
(E) Fyarfaa

TG & AMFZGe &l

&R AT B |

(A) T g
(B) T Fig

(C) 3f=4z Frg

(D) I% 7 & w1é T
(E) 3mmiEa

Prefafas § § 97 @reg T T &

Hewl 1 e TE R 7
(A) =T Sar

(B) RN fadus

(c) fufrcaw

(D) T

(E) 3nrmiie

fafeemme sl sk 3 wfnfem
A H _ FE ST R |
_a) mAifafess

) Fefrdrin

(C) &7 Fafrmas

(D) &
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89. Community Ilcalth can be achicved

through

(A) Safe Environment and Education

(B) Well functioning health system
und establishing reaponasibility
towards health

(C) Conltrol of communicable and
non-communicable discases

(D) All of the above ?E‘

(E) Not attemptced

90. In Structured Query Language (SOL
to sclect all the data available it[1 a .
table, we usc which of the following
SELECT statement ?

(A) SELECT *.* FROM table_name;

(B) SELECT FROM table_name;

(C) SELECT all FROM table_name;

(D) SELECT * FROM table_name: |
(E] Not attempted

91. Radio is an example for
(A) Visual aid
(B) Auditory aid
(C) Audio visual aid
(D) None of the above
(E) Not attempted

92. Which of the following is not the

phase of bacterial prowth curve ?
(A) Stationary phase

(B) Lig phase

(C) Lag phase

(D) Log phase

(E) Not attempted

CG -MH23

89. WIS Tmer 5 frmds = ot form
S HHA R ?

(A) T gt i fa 2

(B) 3= W7 | T W @ =
Tt 3w & ufa fidigrh

(C) T 3 Me-3Grms i & frdam &

AD) 3gTa

(E) Fwafem

wFeE Wl o (sQu) i e ®
ITTY Wi T W 9w w0 & g
Fr=fafem § @ e SELECT FHa =
I E 7

(A) SELECT *." FROM table_namc;
(B) SELECT FROM table_name;
(C) SELECT all FROM table_name;

(D) SELECT * FROM table_name;
(E) It

90.

91. iz e
(A) 374 HIYF &
(B) ¥=q |9 I
IC) FRA-T=3 WIuA &
(D) 37 3 A T
(E) St

92. P=fefad 7 @S- dawy afz @ A
A T R 7 -
(A) TR
(B) fem %3 *
(C) = &= %
(D) S %3
(E) Swarita
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93.

Diarrhoen| discqg
Cx
(C) AIDS

(D) [cprosy
(E] Not attempteq

94. Convert {011&101100),‘10
hexadecimal Number, |
(A) (1BC),,

(B) (2BC),,

(C) (1AC),,

(D) (2AC),,

(E) Not attempted

95. Which is the medial gng larger bone
of the leg ?

(A) Tibia

(B) Patela

(C) Fermnur

(D) Radial

(E) Not attempted

96. The generation of erythrocyte is
called
(A) Hematopoiesis
(B) Thrombopoicsis
(C) Leukopoicsis
(D) Erythropoiesis
(E) Nat attempted

CG - MH23

93, fmfafaqﬁﬁm-msmeamwis

94,

= 1 % iy

(A) TTzm

JB) A {m

(C) vzq

(D) = {my

(E) 3mafag

(0110201100), 71 Rwrfirrer wean
Bl | b

(A) (1BC),,

(B} (2BC),,

(€ (1AQ),,

(D) (2AC),,

() Iwarfem

T % g T 7

95. % wow 3l wdi w -t £ 7

(A) fefemr
{B) W .

-

(C) ST
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97. Cerebrospinal fufd (CSF)
cxamination is carried oul in the
laboratory mainly for the diagnosis of
[A] Conjunctivitis &
(B) Meningitis %

(C) Sinusitis o

(D) Keratitis

(E) Not attempted

98. In Python, trying to add an clement
lo a full stack results in an exception

called
(A) Empty (B) Non-empty
(C) Full (D) Overfiow

(E) Not attempted

99. Revised National Tuberculosis
Control Programme (RNTCP) has

achieved nationwide coverage in
(A) April 2006
(C) March 2006
(E) Not attempted

(B) March 2000
(D) March 2005

100. The termn thrombopoicsis means
peneration of
(A) Platelet
(B) Plasma
(C) White Blood Cell (WBC)
(D) Red Blood Cell (RBC)
(E) Not attempted

" Ca- MH23
97. tﬂ LS IFE 'Eﬂ's (:h
(A) FfFefifoy
D) B
(C) g
(D) ey
(E) anwfyg
o mmﬁ ﬁwmﬁ@m@w
EIck:
—_—
AR 39 fﬁnﬁ | -
(A) Empty (B) Nﬂn-cmpty
(C) Ful
- (D) Overflow
99. T T araiin Frdae s
(3.8 w ) 3 g RN/
Tl Fa we faay | 191z
(A) 3151 2006 (B) 7 2000
(C) 7 2006 (D) W 2005
(E) araaif
100. Wﬁﬁm T2 &1 34 1
Ffor 2
JA) wiEee
(B) wATET

(C) aT%e =728 U« (3=4.41.41.)
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